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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS
Q1

(1  Select the figure that is related to figure C in
the same way as figure B is related to figure
A,
. (H [ ] LA i
: E e : P

L3 v
(I [1id} Ic)

i O

(A)

(B)

(C)

VOl 109 |20

80 < 0ol |00

(D)

'\ O

(2  Identify the odd one from the given list.

Ignore, Avoid, Recognise, Reject, Neglect,
Overlook, Overpass, Forget, Disregard
(A) Recognise

(B) Overlook

(C) Overpass

(D) Disregard

Q3 Identify the odd one from the given list.

Jaipur, Jodhpur, Jaisalmer, Chhatarpur,
Ajmer, Bikaner, Chittorgarh, Kota, Sikar,
Pushkar

(A) Jodhpur

(B) Chhatarpur

(C) Chittorgarh

(D) Pushkar
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(A) wEaT

(B) 3t

(C) ffe—fourn

(D) Fado

freferfa v 3 9 = & 909 &)

(A) g

(B) wawqy
(C) e

(D) q=5v
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Q4

Qs

The following diagram is the outcome of a
survey carried out for the number of
languages that can be spoken by the
employees in a particular department of a
company. Study the diagram and identify the
option that is NOT correct.

English Hindi

2
N2t

Marathi

(A) The total number of employees who
responded to the survey was 54,

(B) 30employees can speak Hindi.

(C) 30employees cannot speak Marathi.

(D) 23 employees can speak exactly two
languages.

Two positions of a dice are shown. If* 1" is
exactly oppoasite *5°, then which number will
be exactly opposite “2°?

(A) 3
B) 4

(©) 5
(D) 6
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frfoftaa aita v F9l & ) v
framr & Haftat g A aF aeh
wmaEl & Hem & o Sy v wderr
&1 qRUm 8| AN & A B AN
W ATey &1 uga™ & O AT B

ooy fE@d

0
"

HIMST

(A) waemr # Wy @) are wafal
Tl wEAT 54 8

(B) 30 wary ) @ wwa &)

(C) 30 Far #udl 1l a1a waa )

(D) 23 Tar) daa &1 Wil A e
A

TE g o 3 Reuftrt soid o &) afe
SadefRfa‘rta s ds
fagtia &= & e w7

AR T R AL

(A) 3
(B) 4
(C) 5
(D) 6
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Q6

Q7

John started from point A and walked 12
km towards the east, tumed left and walked
another 5 km to reach point B. George also
started from point A but walked 3 km
towards the south, turned left and walked
another 18 km to reach point B. What is the
shortest distance between points A and B?
(A) 6km

(B) 8km

(C) 10km

(D) 14km

Given is a statement followed by two
conclusions. Identify which of the given
conclusions logically follow(s) from the
statemnent.

Statement:

During election period, politicians usually hurl
abuses at candidates of other parties and
some often make vulgar gestures too.

Conclusion:

) Women and children should not be
allowed to attend election rallies.

II) Election Commission should issuesa
strict code of conduct for all politicians.

(A)
(B)
(C)
(D) Neither conclusion I nor Il follows.

Only conclusion | follows.
Only conclusion Il follows.
Either conclusion | or I1 follows.
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it fiflg A9 fig B vge & fag @
# 3R 12 km T £, 3R v @l 58
@Y 5 km 3N =oan &) ifw A0 fig AQ
fifg B ¥ g & forg 3 km TR0 9t 3R
werar 8, R a1 3R 78 % 18 km AR
weren 81 fig Asiv B& @ =pvem g
faserht 87
(A) 6km
(B) 8km
(C) 10km
(D) 14km

vE due I IEd Heta @1 e Ry
v #) Feife 3 & @9 /9 et
mfde w9 § Ry T FF &1 LI
Fan /de & /%)

HY:

g & WA, Aefoe o @l @
wearfirt & g sl &1 gRe ad
# ofr @ o afire w@a W FW E

frepd:

n witewit g =i $ g W i
wfte ¥ &t sgafa 8 @
aife

) 7 JEET B T Ao 3
foiy HOR WTER Wi AR HE
aifee |

(A) ®ae Fresd | e & B

(B) @ael Fremd 11 argeRor wvar & |

(C) o Fremd 1 Fremd 11 RO
e 8|

(D) 7 @ Fresd 1aiv 7 & Frawd 11

SO B 8
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Select the option that is a valid assumption
for the following statement.

Statement:

Despite a clear waming from the doctor,
Ramesh, who is a diabetic patient, ate ice
cream at the wedding of his friend.

(A) The friend does not like Ramesh much,

(B) The doctor does not like ice cream.

(C) lce cream is not good for Ramesh's
health,

(D) Diabetes patients do not like doctors.

A statement and two courses of action are
given. Select the option that is a valid course
of action for the given statement.

Statement:

Due to the planned transport strike, there will
be a shortage of vegetables in the market and
also prices may go up.

Courses of Action:

I Government should try to negotiate with
the transport association to cancel the
strike.

Il.  Shoppers must buy and store some
extra vegetables beforehand.

(A) Onlyaction |
(B) Only action I
(C) BothactionslandIl
(D) Neither action I nor 1

LM-D
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Q9

I A &1 ag= :fse o Pre=afafae
T & o g g &

HEA:

SR P WE T B o WY, o
& geive =1 I & SE oo P @
fare @ srawr W sngawE @ |

(A) =, Vi = afte gwg T8 s
Bl

(B) Sidey & angEdm yHz T8 &

(C) ImgwaI™ 9 @ wreea @ o arsh
T 21

(D) =g¥E & M Sfaedl & gwg a8
& &

TP F 3R I A ) srdafedl &
T§ & | 99 Reey &1 gga & o Ry v
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ey |

(A) Bae SEaE |

(B) T Fram I

(C) wrdard 13 11 3

(D) = o HEdad (R0
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Q10 IfVisible :: Eyes, then Audible :: 7.

Identify what can come in place of *?".

(A) Brain
(B) MNose
(C) Heart
(D) Ears

Q11 IfBook :: Author, then Song :: 2.

Identify what can come in place of *?".

(A) Script Writer
(B) Lyricist

(C) Director
(D) Producer

Q12 Inacertain coded language, if COPPER is
written as C15P16E18 and SULFUR is
written as S21L61J18, then how will the

word SODIUM be written?
(A) SI15DSU2I

(B) S19D4U21

(C) S15D9U13

(D) S15D2IM13

Q13 Pointingata child performing on the stage,
aman in the audience said, “He is the brother
of the daughter of Shilpa, who is the
daughter-in-law of the mother-in-law of the

‘mother of my son.” If the man is NOT the
husband of Shilpa, how is he related to the

father of that child on the stage?
(A) Uncle

(B) Nephew

(C) Grandfather

(D) Brother
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Ql1

G1B448TE

Q12

Q13

afe =3t :; s, @ savfrg ;)

I B & vl () @ WE W)
1 AT

(A) wfess

(B) &

(C) B=d

(D) &

i qeas o o, W M ?)

o & yEfE () @ WA W
T 3T |

(A) TCHUl oS

(B) MaaR

(C) Fewas

(D) b

va fafire @ wan A, af? COPPER &1
C15P16E18 forar wmer & afik SULFUR
#1 S21L6U18 forem wmem 8 of W
SODIUM @7 &9 ferar smy?

(A) S15D9U2I

(B) S19D4U21

(C) S15D9U13

(D) S15D21M13

Ha 4R WEYE W W U@ T 3R
g sva §¢ <¥fat § @ @ @il A
e, a8 e & g @ 9 2 frew
WA @ A e @ qg 8y Al 9w
afaw Rrear &1 afty 8T 8, o SwaT A4
w HdioE o= & far @ @ ey 87
(A) =Tar/ 5T / He

(B) AT/ TS

(©) 3T

(D) =g
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conclusions. Assuming the statements to be
true even if they seem to be at variance with
commonly known facts, identify which
conclusion(s) definitely follow(s) from the
statements.

BO0L4ETE

Statements:

. Some cats bark.

2. Those who bark do not sleep.
3. Allelephants sleep.

4. Nocatisanelephant.

Conclusions:

1) Some cats do not sleep.

II) Some elephants bark.

[ll) Catswho bark are elephants.

IV) Elephants who do not bark are cats.

(A) Onlyconclusion I follows.
| (B) Only conclusions I and I1 follow.
(C) Only conclusions I1I and IV follow.
| (D) Only conclusion ITl follows.

| Q15 Study the following series and identify what Q15
can come in place of *?".

STEM, MFRYV, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW
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faw ¢ Pt o FPftes W & aga
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¥ g oA ¥ A 8

Hey:
I. 3o fafeadt e &)

2, i i § 9 WY T #

3. woft weft Wy &)

4. o faceh snh 7 &

Fereend:
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(A) Fact Frepd 1 argewor ovear &

(B) @ael Frepd 13w 11 s e |

(C) @aet Frepd M13MR [V argeReT v
B

(D) @ae frepd 1M1 rgwer ovar &1

frfee sjaen @1 v ofie sa o s
Ve (7))@ WH W I 9 ue
ST

STEM, MFRYV, VSDP, PEQY, YRCS,
SDPB, ?

(A) BPBU

(B) BNFO

(C) BQBV

(D) BQAW
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Ql6

Ql7

QI8

Study the following series and identify what
can come in place of *7".

JAM24, LEK28, NII32, POG38, RUE44,
TAC24,7

(A) VAA26

(B) VEA28

(C) VEB3D

(D) VEA3?

Study the following series and identify what
can come in place of *7".

83,77, 68, 56,41,23,7
(A) 2
®) 7
©) 10
) N

Read the following question and decide
which of the additional information given in
the options is required to answer it correctly.

The age of a father and his son is in the ratio

of 13 : 3. If the age of the mother is 33 years,

what is the ratio of the age of the father to
that of the mother?

(A) The difference between the ages of the
father and the son is less than the age
of the mother.

(B) The age of the father at the time of
marriage was 27 years.

(C) The average age of the father and son
is more than the average age of the
mother and son.

(D) The average age of the fatherand
mother on the son’s first birthday was
28 years.

LM-D
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QI8

Frforitaa e & ug st sa & f&
g (‘7)) $ WE W I 6 S
FTYT?

JAM24, LEK28, N1132, POG38, RUE44,
TAC24,?

(A) VAA26

(B) VEA28

(C) VEB30

(D) VEA32

Frafaiaa sfae &1 g ik I & F
WERET (7)) @ WH W @ 9 e
Imem?

83, 77, 68, 56, 41,23, 7
(A) 2
B) 7
(©) 10
(D) 1

fpiferRen v o1 v 3l FPeifa = fs
FHET W 9N o4 @ fog et A 9
fra sftftea wam @ oova &1

vs firar aft g3 & ang 13 : 3 @ U

¥ &) afy war 9 ang 339 @, o R

Y Y BT AT B TG W FAT I 87

(A) fem afR g3 9 g & Jex, 7w
o Ay A Y T

B) faaw & wwa far $ ang 27 9§
o |

(C) far afe g ot afrea amy, wmem 3R
gz & ofrwd g | e E

(D) T3 & veel wrfa o R sl s
&t afrea 3y 28 af o)
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Q19

Q20

Read the following question and decide
which of the additional information given in

the options is required to answer it correctly.

A is taller than B, who is shorter than C. Who

is the tallest person among them?

(A) Cisnot the shortest person.

(B) B isnot the tallest person.

(C) Theaverage heightof Cand B isthe
same as the height of A.

(D) Theaverage height of A and B is less
than the height of C.

Read the following question and decide which
of the additional information given in the

options is required to answer it correctly.

A is the son of B, who is the husband of C.
D is the mother of E and wife of F. How isB
related to F?

9

o5 LB

(A) The mother of D is the mother-in-law
of C.

(B) A and E are cousins.

(C) Bisthe uncleofE.

(D) A isthenephew of D,

LM-D 10
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fFrferfaa we @1 o2 air Fuifa &
& gu® w8 9w &7 & fov e 4
¥ T arfaRes g & oevd 8 )

ABAEIMBIBCUBRIE| o 9
Had o4 B 87

(A) C wa% BIeT 78l #|

(B) B waH war 1 &

(C) C3R Ba afraa o A & dare
& A &

(D) A 3R B aiaa ward C o warg
W EAEI

frferfaa g &1 o2 o Fuifta &
& gad v I 29 @ fov el
A fow afofea gan &t wwva &)

ABH YA 8| B,Co ufty 81 D,E®
Wi o Fal ol 2\ BT F& aar
wHeer 87

(A) D& Hf C & | 2|

(B) AR E R (seR, o, JRR,
AR WTE /q8) B

(C) B, E @1 qrar/AMT/Hrar & |

(D) A, D &1 it /i /& |
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Q21

Q22

Q23

Read the following question and decide
which of the additional information given in

the options is required to answer it correctly.

Five students, A, B, C, Dand E, are standing
in a queue such that A, C and E are NOT at
the extremes. Who is standing at the first

position in the queue?

(A) Eisahead of C but behind A.
(B) A isahead of C but behind D.
(C) E isexactly inthe centre.

(D) There are 3 students ahead of C.

Choose the odd one out.
(A) DVW
(B) GST
(C) IPQ
(D) MNK

Select the term that can come in place of

*?"in the following series.

IBY, 6FV, 1115, 16NE,?

(A) 21QL
(B) 21QM
(C) 21RM
(D) 210N
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Q23

fymifafam ww @1 o afw Fuifta &3 @6
gUd1 8 TN &1 & forw fAwegt A A
fe afafte gan & 9o &)

i@ B A, B,C,D 3R E, v ufda 4
g0 yaR @S & f A, C 3w E famt ue
¢ &) ufte | waw usa B9 @er &7

(A) E,CH 3l 8 difes A9 010 R
B) A, CRarmgafFm pa@e 8
(C) Efacama == # &)
(D) CH 3 3 B81F B

Ao # 9 ania ug &1 aga o
(A) DVW
(B) GST
(C) JPQ
(D) MNK

99 Ug & 534 sieg @ Fefafaa
siwen A yefaea (7) & I 9% 30 |

IBY, 6FV, 11JS, 16NP, 2
(A) 21QL
(B) 21QM

(C) 21RM
(D) 210N
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Q24 Ifinacode language, TABLE is written as
SYYHZ, how will CHAIR be written in the
same language?

(A) FBEXM
(B) BEFXM
(C) EBFMX
(D) BFXEM

Q25 If+implies—
— implies x
« implies +
+ implies +,
then select the option that gives the proper
sequence of signs that when filled in the gaps
of the given equation will correctly complete

the same.

6 123 5 15=11
[ﬁ‘} +|- ~» +r N'.
{.B} +| -

C) + %, -+
fD} “hHhHX

LM-D
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Q24

Q25

& i W d uf TABLE ® SYYHZ
forar s 8, ot it g2 W # CHAIR
@ T foan wmg?

(A) FBEXM

(B) BEFXM

(C) EBFMX

(D) BFXEM

afe +ar aef - 8

- «#

x 37 aef + &

+& 3 + B

a1 39 AT o auq o Rt fest
&1 Sfea arges otar wan @ o Ry g
TAEOT B I H W o wld @
H 7 @ |

6.12.3 5 15=11
{(A) = -+ x
(B} +-|. — T

O £,% =+
(D] =¥ +- +, X
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SECTION-2| GENERAL KNOWLEDGE | 50 QUESTIONS

Q26 Whatisthe full form of RFP, whichisused & Q26

I BE54

in the context of an RFP document in the [T
sector?

(A) Request for Proposal

(B) Request for Petition

(C) Request for Process

(D) Register Formal Process

Q27 Watson computer is a product of which of Q27
the following companies?
(A) Microsoft
(B) IBM
(C) Google
(D) Dell

Q28 Kevin Systrom and Mike Krieger are the Q28
founders of which of the following?
(A) WhatsApp
(B) Twitter
(C) Instagram
(D) Linkedin

LM-D 13

RFP &1 g0 7™ = &, freest s IT
Jaex A RFP e & wed §
S 87

(A) R i wdioe

B) fiwwe o iR

(C) Rt wiv W

(D) e Biva W

dfew seer Prafef 4 & f5e o
o1 disae &7

(A) Microsoft

(B) IBM

(C) Google

(D) Dell

*fam Rt ol g v Frefafle
¥ 9 frad wwmus 87

(A) WhatsApp

(B) Twitter

(C) Instagram

(D) Linkedin

SERIES-D-A




Q29

Q30

Q31

Q32

LM-D

Who among the following established the
Banaras Hindu University?

(A) Rabindranath Tagore

(B) Ganesh Shankar Vidyarthi

(C) Govind Ballabh Pant

(D) Madan Mohan Malviya

Where is the Bara Imambara monument
situated?

(A) Lucknow

(B) Varanasi

(C) Kanpur

(D) Prayagraj(Allahabad)

Who among the following was popularly
referred to as the Sher-e-Ballia?

(A) Bhagat Singh

(B) Chandrasekar Azad

(C) Chittu Pandey

(D) Mangal Pandey

Who was the Samajwadi Party (SP)
candidate from Lucknow contesting against
Rajnath Singh in Lok Sabha Elections 20197
(A) SureshBansal

(B) PurviVerma

(C) UshaVerma

(D) Poonam Sinha

1501964
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Q29

Q30

Q31

Q32

gard fég fRvafemeas @ wnen
Fr=iferfae % & fvas &7

(A) ¥fdeamer SN

(B) vy i faremedt

(C) s aeer Ha

(D) #Es HiEA Areda

ST FHHATST WIed Dl R 27
(A) wETS

(B) araordt

(C) ®FIgR

(D) WATRTG (FlreT™s)

frfofea 4 ¥ 5 dv—v—afern @
A W ST e ear?

(A) e Riw

(B) T=wdEw g

(€) oy wid

(D) #ef uid

SR FIT 2019 § S@TS o GO
f¥ie & Raes s ordl (o) &
Iufigar fr=ifefaa & @ @ ur

(A) H¥o o

(B) Tl

(C) & T

®) T R
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Q33

Q34

Q35

Q36

The Parichha Dam in the state of Uttar
Pradesh is built across which river?

(A) Sharda

(B) Chambal

(C) Betwa

(D) Ghaghara

Uttar Pradesh was earlier known as United
Provinces. In which year was it named as
Uttar Pradesh?

(A) 1947

(B) 1951

(C) 1950

(D) 1948

Who was the first Governor of Uttar Pradesh
after it got renamed as Uttar Pradesh from
United Provinces?

(A) Varahagiri Venkata Giri

(B) Hormasji Peroshaw Mody

(C) Biswanath Das

(D) AkbarAli Khan

In which year did the first large-scale mutiny
by Indian soldiers against the British, the
Vellore Mutiny, take place?

(A) 1812

(B) 1800

(C) 1806

(D) 1813

LM-D
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Q34

Q35

Q36

1421964

I wew wou # ofer afr e T W
AT a9 87

(A) ¥IRET

(B) @&

(C) &

(D) =mEw

TN WA B UE WY Wi 3 9 A
T ST o | & Rew ad 9 wew o
M R Tar ar?

(A) 1947

(B) 1951

(C) 1950

(D) 1948

WY Wid W OTR Wew & ®Y 4 AW
qqo & 415 ST US Y H UEA oadTe
DI o7

(A) ausfiR d3e MR

(B) Erwwul e A

(C) fawa=mr T

(D) AT A @

it & Raes Ardy dfFei g gEe
73 A w faee, deein fawiE v o
B3I 917
(A) 1812
(B) 1800
(C) 1806
(D) 1813
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Q37

Q38

Q39

Q40

In which year did East India Company sign
the First Treaty of Amritsar with Ranjit Singh?
(A) 1800
(B) 1805
(C) 1806
(D) 1809

The Brahmo Samaj was established in 1828
by:

(A) RajaRam Mohan Roy

(B) Swami Dayanand Saraswati

(C) KeshabChandra Sen

(D) Swami Vivekananda

In which year did the first passenger train in
India run from Bombay (now Chattrapati
Shivaji Maharaj Terminus) to Thane?

(A) 1835

(B) 1825

(C) 1853

(D) 1840

In which of the following locations was the
first post office in India established by the
British East India Company in 17642

(A) Hikkim

(B) Pune

(C) Madras (now Chennai)

(D) Bombay (now Mumbai)

LM-D
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Q37

Q38

Q39

Q40

fra ad % dwe sfRwr sh 3 e
iz @& \Rr smowR A gEd Wl @
BwIER fHu?

(A) 1800

(B) 1805

(C) 1806

(D) 1809

1828 % a1 WA & Wy Frefefae
4 9 s gm0 1 o

(A) TSI I HIEq WG

(B) WP garFE weead)

(C) @vg 98 ¥4

(D) @ fRderg

qag (df9; a@ waufy REnh Herm
el ) @ ue o W uech A 29
e af aeih of?

(A) 1835

(B) 1825

(C) 1853

D) 1840

1764 # fafew &= e o g
W WA &1 yEen S5 uv Pt
# ¥ fFa wm w e

(A) fefarm

(B) or

(C) 7&TH (3@ 4%

(D) i (3 Hag)
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Q41

Q42

Q43

Morley-Minto Reforms, formulated by John
Morley, were enacted in which of the
following years?

(A) 1909

(B) 1920

(C) 1895

(D) 1897

Who was the first person to address
Mahatma Gandhi as the ‘Father of the
Nation"?

(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhas Chandra Bose

(D) LalaLajpat Rai

In which state is the Eravikulam National
Park situated?

(A) Karnataka

(B) Assam

(C) Kerala

(D) Andhra Pradesh

Which of the following is NOT abiotic?
(A) Water

(B) Sail

(C) Air

(D) Fungi

LM-D

Q41

Q42

Q43

Wi #ie g aar fear T Gie-fer
gar, Ffrefafaa 4 @ 5w o A
sRFaba B e

(A) 1909

(B) 1920

(C) 1895

(D) 1897

HETT T B W ar et wait
T arel Ed |l B 9

(A) HYER Ued

(B) iaER & 86

(©) g = A

(D) ST ST WA

grfagam wsg 9 e woa ¥ Reg
87

(A) FAEH

(B) 3w

(C) @wa

(D) 3wl wawm

Frefofiaa # @ @ wr anifas +df &7
(A) uri!
(B) =1
(C) &
(D) »a®
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Q45

As of 2014, which country is the leading
producer of tin in the world?
(A) China

~ (B) Braazil

Q46

Q48

(C) Malaysia
(D) Vietmam

In which district of Tamil Nadu is one of the
oldest dams, Grand Anicut, also known as
Kallanai, located?

(A) Madurai

(B) Tinichirappalli

(C) Erode

(D) Coimbatore

As of 2012, which country is the largest
producer of bauxite in the world?

(A) Brazil

(B) India

(C) Australia

(D) Indonesia

Which of the following rivers is also known
as Uttara Pinakini?

(A) Cauvery

(B) Brahmani

(€) Vaigai
(D) Pennar

LLLLIOLS
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Q45 T4 2014 O, IUcTEl THSHN @ AR,

PR i s o fRwd s @
dil IES B9 BY

(A) =

(B) ariler

(C) wredfera

(D) faaam

Q46 TifeArg & fFw fret # woog @ am

Q47

Q48

A WFET G arer T8 Ui A, Wl
Has Qe a9 ow B, R 27
(A) wig¥

(B) forsfermge

(C) §01s

(D) Py

af 2012 &, SUAE FAFEN @ AN
fawg 4 digwge @ WaW 491 IAES
9 A A1 87

(A) ATSiet

(B) Wmd

(C) afesferm

(D) gemfEmr

Frefeifaa # 9 @ 9 7 S i
@ AW W W S &7

(A) TN

(B) amgmit

(C) ¢

(D) TR
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Q49 The culture or cultivation of grapes is called:

Qs0°

Q52

(A) Viticulture
(B) Pisciculure
(C) Sericulture
(D) Horticulture

Khadar and Bhangar are types of which of
the following soils?

(A) Black

(B) Alluvial

(C) Red

(D) Laterite

In which country is the Tanami Desert
located?

(A) China

(B) SouthAfrica

(C) Australia

(D) India

As of March 2019, how many fundamental
duties are there in the Indian constitution?
(A) 6

®) 7

(C) 9

(D) 11

LM-D

Q49

Q50

Q51

23215419

Q52

IR P oWh FE B oW ok @
Freiferftas 3 9 e sm @ w=r s
87

(A) fadiaer

(B) Urfideay

(C) Hiraeay

(D) #fewean

wrey 3R Wi FAefofas 4 9
geR o g #7

(A) el

(B) wreitg

(C) el

(D) wievige

A Wirvar Frefofiaa % 9 e g
# e 7

(A) 9

(B) =f8r arbian

(C) sifegfern

(D) "va

ATH 2019 T, SUAE AHHN & FTAR

HRa wigar # e dfers sda &7
(A) 6
B) 7
() 9
D) 11
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Q53  India has signed an Mol in April 2019 with

Q54

Q55

LM-D

the National Bank for Agriculture and Rural
Development Consultancy Service
(NABCONS) for setting up the India-Africa
Institute of Agriculture and Rural
Development (IAIARD) in which country?
(A) Zambia

(B) Malawi

(C) Tanzania

(D) Kenya

In2018-19, for the second successive year,
which state has been ranked first in e-leaming
training programme of the Department of
Personal and Training (DoPT) of the
Govermment of India?

(A) Tamil Nadu

(B) Kamataka

(C) Telangana

(D) Kerala

FRWL: i

Uttar Pradesh Diwas is celebrated on which
of the following dates?

(A) 25*March

(B) 2*April

(C) 10*April

(D) 24* January
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Q53

Q54

Q35

wa A 5w 30 A awa—anfa o i
T S e (IAIARD) @ e
% fog Awa ¥ ot gfiecaw ¢s
wYd sgaude wmwee Wl wfifw
(NABCONS) & @ ata 2019 #
EHSAT ST Y wwRR fy 87

(A) wnfaar

(B) wemd!

(C) Tt

(D) &=

2018-19 9 wmaR g o @ fog, 5w
IS B AR TR D wifites ¢ uftwor
fEmT (DoPT) & €—arfefir wlmmr wrdam
W e v fRar aar &2

(A) affrerTrg

(B) FAleH

(C) demr

(D) P

e wew fRaw Freafafea 4 | e
arira @1 s o 87

(A) 25 wrd

(B) 23We

(C) 103da

(D) 24 F1adl
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Q56 AsofMarch2019, whichisthethird-largest Q56 1€ 2019 @, Iuerel SFH & FTAR

bank in India? wver @1 A WAy a9 @ @ ge
(A) Indian Bank : (A) gfew &=

(B) Bank of Baroda B B) & 3w adiar

(C) ICICI Bank (€) aamdwhan

(D) Canara Bank (D) &1 &5

Q57 Reliance Mutual Fund has partnered with Q57 Ramw wqgya we 4 Frafafaa 4 4

which of the following companies to launch e sl @ wm smara—amnia R
voice-based financial transactions? A IS & @ g wEed # 87
(A) IBM (A) IBM

(B) Accenture (B) Accenture

(C) Google (C) Google

(D) Infosys (D) Infosys

Q58 As of March 2019, what is common to Q58 wrd 2019 @®, IUEE WHHN B ITAR

these four countries— South Sudan, Libya, ¥ g 2t - s e, i, T
Yemen and Greece? afte e — ¥ Pr=fafere % & @ @ T
(A) Allare African countries amr 87
(B) Allare monarchies (A) it anfaft 2o &
(C) All are Mediterranean countries (B) it wworers &
(D) Allofthem have had an average (C) ol sprawrda 3u §

10-year negative economic growth (D) = Wit # afwrert 10 | @

awren anfide gfE ge @
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Q59

Q60

Q61

LM-D

In April 2019, Reliance Jio acquired the
chatbot-making startup firm Haptik for:

(A) T 700 crore

(B) T 500 crore

(C) T 600 crore

(D) T 400 crore

International Centre for Automotive
Technology (ICAT) is scheduled to organise
NuGen Mobility Summit 2019 in November
at which of the following locations?

(A) Mumbai

(B) Manesar

(C) Bengaluru

(D) Chennai

Which of the following companies owns the
video app TikTok?

(A) OpenXcel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps

61191 T
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Q59

Q60

e 2019 %, Rewa B 4 e
gl # dzife T Al wrdsm v
Haptik &1 sifuew far?

(A) T 700 F08

(B) T 500 93

(C) T 600 g

(D) T 400 F8

gevrTd Wew wiv sifevifea 2t
(ICAT) #dav % R[a+ (NuGen) Mifaferd
Rreaw waier 2019 Frifarftaa 4 @ fa
W R e we arel &7

(A) g

(B) R

(C) e

(D) =g

Frfafaa 4 @ @ @ soh Hfza ou
TikTok @1 wanfive e £7

(A) OpenXecel

(B) Consagous Technologies

(C) ByteDance

(D) RipenApps
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Q62

063

Q64

In April 2019, the UAE honoured who
among the following with the prestigious
Zayed Medal for giving a big boost to
bilateral strategic ties?

{A) Imran Khan

(B) Theresa May

(C) Emmanuel Macron

(D) Narendra Modi

Who among the following has become the
first transgender election ambassador in
India?

(A) Gauri Sawant

(B) Sathyasri Sharmila

(C) Joyita Mondal

(D) Prithika Yashini

As of April 2019, which country holds the
top spot in the latest FIFA world football
rankings?

(A) England

(B) Belgium

(C) Germany

(D) Austria

LM-D
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Q62

Q63

Q64

ferrferfaa # & a7 UAE gRT 3ifiet 2019
¥, fgwely wrifoe waut & vF qem
41 @ forv wfafen o ves & W™
wete femar Tar?

(A) T @

(B) avET H

(C) TN Hept

(D) ¥ A

FyrfaRae 3 & B e 9 TEel RIS
ESEREECREIR L

(A) T wTEd

(B) weas wifiten

(C) Wi Hed

(D) gfrwr R

el 2019 U, SYTET SR B ITAR
fFrferfiaa # & ® @ 0 TéEeE B
fava media Hv # vset wIF W 87
(A) Ffs

(B) dfcoram

(C) sl

(D) e
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Q65  AsofApril 2019, who is the President of the

Q66

Q67

Confederation of Indian Industry (CIT)?
(A) Kumar Mangalam Birla

(B) Ashok Hinduja

(C) Vikram Kirloskar

(D) RajivBajaj

As of April 2019, who is the Chancellor of
Tamil Nadu Agricultural University (TNAU)?
(A) Trilochan Mohapatra

(B) Ajay Kumar Singh

(C) Sachin Wadhwa

(D) Banwarilal Purohit

AsofJuly 2019, who is the Union Minister
for Agriculture and Farmers Welfare?

(A) Narendra Singh Tomar

(B) Harsh Vardhan

(C) Anant Geete

(D) RadhaMohan Singh
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Q65 3ifieT 2019 TP, IYET TG B RN

Q66

Q67

AR ST R (CIl) & aner
&

(A) THR wrem faven

(B) 3reias fEge

(C) fawm frafwn

(O CERIE

AT 2019 0B YRS TSI B TR,
afierg PR fvafiaem (TNAU) &
gy e &

(A) B s

(B) 3@ AR Ris

(C) W awan

(D) Fardiener e

eI 2019 T, IUTET TSN @ FTHR
s Pt AR e wemr i 2
7

(A) o= fis o

(B) &Y axfq

(C) aia

(D) ¥ e s
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Q70

producer of wheat in the world?
(A) France

(B) China

(C) Australia

(D) Canada

Q69 The Keetham Lake and Sur Sarovar Bird

Sanctuary are located near which of these

S o s

(A) Jhansi
(B) Kanpur
(C) Lucknow
(D) Agra

Which city of India is home to the famous
Falaknuma Palace?

(A) Jhansi

(B) Gwalior

(C) Jaipur

(D) Hyderabad

LM-D
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Q68 Whichofthe followingcountriesisthelargest Q68  Fr=ifaifan % 9 o w1 3w fwa & 4

Q70

@ AR ¥ SES oW 87
(A) wiw

B) @

(C) sifegforan

(D) ®rs

fum $iia 3w Jr waw wf apameg
Frafafen e me & o Rea &2
(A) il
(B) ®FgR
(C) dET%

(D) s

WRE W B W e IS BEET
o m &

(A) il

B) ey

(C) WA
(D) Eavmm
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Q71

Q72

Q73

Which state police has its motto as
‘Suraksha-Apki-Sankalp-Hamara'? It
means “Your Security Our Resolution”.
(A) Odisha Police

(B) Rajasthan Police

(C) Uttar Pradesh Police

(D) Haryana Police

In the mobile technology series of 3G, 4G
and 5G, what does the letter G stand for?
(A) Gap

(B) Gigabits

(C) Gateway

(D) Generation

Name the ex-South African player who is
currently the head coach of the Royal
Challengers Bangalore (RCB) cricket team
for the 2019 season.

(A) AB De Villiers

(B) Gary Kirsten

(C) Adrian Dale

(D) HashimAmla

LM-D
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Q7

Q72

Q73

Prafafaa 4 @ fsa v @ gfem &
Irdy T ® G- - HH—
BART? g9 ol Ul R sW
5 £

(A) anfsar gfers

(B) Rroreenr yfer

(C) owr wew yferw

) sRamm gfer

3G, 4G 3lv 5G &t Wt g gaen
# G @ s g 87

(A)

(B) fymfae

(C) 7ed

(D) T

=R st @ 90 @ Raard & aw
& o o A 2019 Hiom @ fag
g Ao e (RCB) fvdie &m @
o HY 87

(A) v & ffead

@) & e

(C) vz &

(D) &M 3w
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Q74  Indian Railway Minister Piyush Goyal has

Q75

announced a new railway zone to primarily
cater to Andhra Pradesh. What is the name
of this railway zone?

(A) Southern Coast Railway Zone

(B) Rayalseema Railway Zone

(C) Coromandal Coast Railway Zone

(D) Seemandhra Railway Zone

Ikhlas Khan's Roza (mausoleum) is situated
in which district of Uttar Pradesh?

(A) Meerut

(B) Saharanpur

(C) Jhansi

(D) Budaun

LM-D

B12T1N7T

b
~3

Q74 WRHA Y& #A0 Gigy MU A g w0 9

Q75

3 wen & Y ts v Y o A
oo 3 8 | §9 Y@ 9 o AW T &7
(A) =@ a2 Yoa S

(B) vaEHE Yo 9iF

(C) FRFisd ae Yad T

(D) drig Yo A

FEATH @ B A9 (HHaRr) IR g8
@ frafafas g e o Rea &7
(A) "o

(B) WERAYY
(C) wiFh

(D) #&/
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Q76

Q77

Q78

Q79

Q80

LM-D

SECTION-3 | GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

What was the name of the first spacecraft
launched by India in 19757

(A) Bhaskar

(B) Aryabhata

(C) APPLE

(D) Rohini

What is the total route length of the proposed
Eastern Dedicated Freight Corridor?

(A) 1556 km

(B) 1656km

(C) 1756km

(D) 1856 km

Which of the following missiles developed
by DRDO is an air-to-air missile?

{A) Prahar

(B) Shaurya

(C) Astra

(D) Prithvilll

Deficiency of which vitamin causes rickets?
(A) VitaminD
(B) VitaminB
(C) VitaminE
(D) ViaminA

Which of the following diseases occurs due
to the deficiency of proteins?

(A) Goitre

(B) Kwashiorkor

(C) Anacmia

(D) Bronchitis

BOSIATAT
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Q76 1975 % ¥R g™ @ fBy U UEe

SARNE A= & A F4T °r?
(A) WY
(B) 3ndwz
(C) Twe
(D) Wfgoh

yeifas gl vt e $iver 3w
faree &7

(A) 1556km

(B) 1656km

(C) 1756 km

(D) 1856km

DRDO gR1 i Frferfiaa 3 9 @9
A forase 51 @ w91 § AW e 9l
v firagd 87

(A) WEN

(B) =

(€) s

(D) gt 1l

fr=fofaa # 9 e Refs & o0 9@
Raem & dd gt 22

(A) fEi@= D

B) e = B

(€) faaifmE

(D) faei@= A

W A T & wr Prafofeaa 4 9
B W drd S 87

(A) Tigex

(B) wI¥RiRGR

(C) iy

(D) "iwmEicd
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Q81 Which of the following diseases can be cured

Q83

Q85

by increasing intake of citrus fruits?
(A) Pellagra

(B) Blindness

(©) Scurvy

(D) Osteoporosis

Which of the following statements is TRUE

about the process of evaporation?

(A) Liquid state is changed to solid state.

(B) Gaseous state is changed to liquid state.

(C) Solid state is changed to liquid state.

(D) Liquid state is changed to gaseous
state.

Which of the following has resulted in the

deterioration of water quality”?

(A) Improper disposal of sewage

(B) Deforestation

(C) Incorrect distribution of water
resources

(D) Overpopulation

The Sl unit of stress is:
(A) joule

(B) pascal

(C) volt

(D) wan

Name the instrument used to measure
absorbed or evolved heat.

(A) Ceilometer

(B) Colorimeter

(C) Calorimeter

(D) Clinometer

LM-D
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Q81 W Bal @ Haw 3 e ¥ Frafafa

i | @ fd S 8@ wad &
(A) Yamm

(B) 3mErg

(C) Tl

(D) IRegERRE

amefieve & wfvar & IR | Fesfafaa

# 9§ ®19 W TYE Hel 87

(A) &a @, 819 @ 4 g5 Wl
gl

(B) i s, 59 s@en J a5 ol
4

(C) o Saw®l, 59 JGwl | 95 o
2

(D) wa s, 4 sEwn # agd Il

2

fp=fafiaa 4 9 fras aRvrrasy o
&t Traen # fivae ang 87

(A) T8 grf @ wE | Foes 7 s
B) T & HeE

(C) wie HHmEAI & o e

(D) IS e

witrae (stress) 3 S| s@18 a1 87
(A) v

(B) TS

(C) =

(D) T

fFrefoftaa 4 @ o 93 @ Swgm
avifia a1 ReRa S (heat) 1 7194
& foe fsn wmm 27

(A) fieriex

(B) @Ay

(C) darrier

(D) fF=iviex
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Q86 Name the force that binds protons and

Q87

Q88

Q89

LM-D

neutrons in a nuckeus.

(A) Electromagnetic force
(B) Weak nuclear force

: (C) Gravitational force

(D) Strongnuclear force

Protium, deuterium and tritium are:
(A) isotopes

(B) isobars

(C) isomers

(D) isochors

Which of the following gases is necessary
for combustion?

(A) Hydrogen

(B) Carbon monoxide

(C) Oxygen

(D) Methane

Which of these values represents pH of an
alkaline solution?

(A) §

B) 2

(C) 10

(D) 3

LLLLEZLE

Q86

Q87

Q88

Q89

@ NE A wieln el =S @ T
g a9 B T FEa £

(A) Rggn g aw

(B) gdw fveta o

(C) Tl a6

(D) wad A 4w

gifegm, sq2fRyw sty RRRean &
fr=fafaa & @ Rewad ot § van T
8?

(A) FgwRY

(B) IngHER

(C) 3mgHmR

(D) gD

e & forg Frafarferer 4 & @9 @
ICELE

(A) SR

(B) M7 Aifaags

(C) Sifeira

D) e

frafafaa # @ o W o9 @ ardm
fawa@s & pH =1 wfaffe @wen 82
(A) §

B) 2

©) 10

(D) 3
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Q90 Which of these is sonorous?

Q9]

092

Qu3

(A) Wood
(B) Water
(C) Rubber
(D) Iron

Select the water-soluble vitamin among the
following.

(A) VitaminsC

(B) VitaminK

(C) VitaminD

(D) VitaminA

Rimjhim’s physician advises her to avoid
consuming a diet high in saturated fats. If
Rimjhim does not follow her doctor's advice,
she can be at a risk of:

(A) kidney discase

(B) cardiovascular discase

(C) anaemia

(D) pancreatic disorder

Which of the following is a major source of
phosphorus?

(A) Polato

(B) Amila

(C) Orange

(D) Milk

LM-D
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Q90 FreiferRas # & F= w1 vawl 1F i

Q92

093

(sonorous) TaTef &7
(A) w@d

(B) 9

(C) W

(D) wiren

Freifafte # 9 @7 v 9a 4 gedla
faefim &2

(A) fEfmc

B) fafmK

(C) =D

(D) faefmA

Rafdm & fafvers 3 99 wH@ga aw
(frvee dhe) arl i &1 st e A
&Y B ware § 21 g Refdm e
fafreas @ weE &1 wae T8 He 8,
ot 99 Pr=fafes § 9 Fas a8
w87

(A) T @ fmrd

(B) w&a ¥m

(C) e

(D) s (GfFaifes) Rew

fPrerferfiae & 9 9 w1 BieERY @1 UE
e W 87

(A) 3,
(B) aiffaar
(C) waw

D) 3
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Q94 Whatis the false feet with whichamocba Q94 Fr=foifia 3 & @1 w1 v& B2 (false

 ingests its food called? feet) & foradl arfar o) i @ Pmean
(A) Axopodia &7
(B) Pseudopodia (A) TEEmifEm
(C) Filopodia (B) wysmifEar
(D) Reticulopodia (C) Tt
(@) Mgz ‘
Q95 Inour body, where does 90% of our total Q95 ®9R ¥ # I FW v e R
nutrient and mineral absorption take place? afre sgeme &1 90% fewm @l Bar J
(A) Kidney # |
(B) Largeintestine @A) 77
(C) Stomach (B) &2 ia
(D) Small intestine (C) 3mmer
(D) BIE! i

Q96 Whichamongthe followingisreferredtoas Q96 Fwfaiftaa # 9 frdl e gftey & |

nearsightedness? w9 A W e 87
(A) Hypermetropia (A) sETERIRa
(B) Hyperopia (B) sEwfa
(C) Myopia (C) =t
(D) Astigmatism (D) TReTiew
Q97 Whodiscovered the X-rays? Q97 uFE-— & @ fsea @
(A) GalileoGalilei (A) Tfafaat dfach
(B) JJ Thomson (B) W, el
(C) EdwinHubble (C) Tefam gaa
(D) WK Roentgen (D) s&, 3. Veur

LLLVEIOG

LM-D 32 SERIES-D-A




Q98 What s the SI unit of time? Q98 wwWa @ Sl gHrE war 27

AL

(A) Hour (A) "2
(B) Second (B) ¥ws
(C) Mimuse (©) fFe
(D) Millisecond D) fcivies
Q99 Proteinsareoneofthe _ nutrients Q99 wWieH, EILERGE B
that provide calories. I B eH I £
(A) four (A) =R
(B) three ®)
(C) two © @
(D) five (D) dia
Q100 is also known as cobalamin. Q100 F=fafan 4 9 B9 Saenfi@ & ™ 9@
(A) Vitamin BI2 A S e 87
(B) VitaminBS (A) faefBi2
(C) VitaminB7 (B) faefmBs
(D) Vitamin B9 (C) faefim B?
(D) feEf- B9

Q101 The greatest number that divides 59 and 54 Q101 TE w9 ¥ wam o1 @ & o 59

with remainders 3 and 5 respectively is: 3 54 =1 fnfom s W anw 33w s
(A) 7 oy 79a 87
®) 3 (A) 7
(C) 5 B) 3
(D) 8 (C) 5
D) 8
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Q102

Q103

Q104

Q105

LM-D

If the volume of a hemisphere is 18 7 cm’,
then the total surface area of the hemisphere
[

(A) 27 x em?

B) 187 cm’

(C) 24 x cm®

(D) 217 em?

Let ‘a’ and ‘b’ be two numbers. The HCF
of ‘a’ and ‘b’ is 4 and the LCM of ‘a’ and
‘b’ is 400. Then, the number of the pairs of
values ‘a’ and ‘b’ can assume is:

(A) 3

(B) 4

€ 2

D) 1

Tap A and B can fill an empty tank in 30
minutes and 60 minutes respectively. Tap C
can empty the full tank in 45 minutes. If all
the three taps are opened together, then the
time required to fill the empty tank will be:
(A) 18minutes

(B) 36minutes

(C) 24 minutes

(D) 30minutes

A and B can complete a task in 60 days and
90 days respectively. With the help of C,
they completed the task in 20 days. If their
total earning is ¥ 36,000, then considering
that their eamnings are in proportion to their
work, the share of C will be:

(A) ¥ 16,000

(B) T 13,600

(C) T 15,400

(D) 2 14,800

M4

51341054

Q102 af us argd et @1 AT 187 om’ R,

ot 99 ard MA ® Fao wAH AHT
e g

(A) 27 7 em?

B) 187 cm?

(C) 24 x cm?

D) 21x e’

Q103 7F o ‘a’ afiv ‘b’ q) HE@I §) ‘a” 3N

‘b’ 1 HETM EAMadS 4 & i SO
THTad® 400 8 o ‘a’ 3w ‘b’ B 2
N W@ & A T B Al 87
(A) 3

(B) 4

(C) 2

D) 1

Q104 7 A3 B US @Wiel e &t e 30

e afty 60 e # Wy w@a € 719 C
ot o) gg < @Y 45 e o arell a5
woar &) afy &9 w9 e W @
W & o @l e o | e
wWa wm?
(A) 18 fme
(B) 36 e
(C) 24 e
(D) 30 fme

Q105 A 3fte B f5eh &1 & mae 60 21 afw

90 &=t # qur &% waa ¥ | C A wETH
H/, oM g9 ol # 20 R A qu W
forar | af} Gwadht H& T T 36,000 ¥,
o a8 d@d g & o wad oad
&M @& aqur A 8, C &1 e e
grm?

(A) T 16,000

(B) T 13,600

(C) T 15,400

(D) T 14,800
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(106 Shilpatravelled at a speed of 20 km/h for 3
hours and an equal distance further at a speed
of 15 km/h. The average speed of Shilpa (in
kmvh) is:

l
(A) ”E

|
(B) IT?

1
(©) 165

1
D) 163

Q107 In APOR,20=90° A, B and C are the

midpoints of PQ, QR and PR respectively.
Then, which of the following statements is
TRUE?

(A) F A, Band C are concyclic points
(B) R B, A and C are concyclic points
(C) @ A Cand Bareconcyclic points
(D) Allofthe given options

|

Q108 If @ is the measure of an angle which is
equal to its complement and 8° is the
measure of an angle which is equal to its

a .

supplement, then E: is
(A) 3

(B) 1

(C) 2

(D) 0.5

LM-D 35

Q106 Rrear A 3 wiel & farw 20 km/h @) wfiy 9

3R Toel & e R 1S km/h ) fy
| ma fvan) frear & s Y (kmvh
) 5| Y

1
(A) ”E

(B) l'.-'*j'

1
() 16‘5

|
D) 163

Q107 APOR %, 20=90° & 4, B3l Cwwar

PO,OR M PR @ = fig & @
frafafea 4 & &9 51 w5 v &2
(A) P, A, B3R C gt fig ¢

(B) R B A 3R Cuwgii fig §

(€) Q. 4, C3N pywgy fig ¥
(D) Ry 7y wi R

Q108 aft g°U®w v &1 Wy & W FED

IS B Ay & AR g0 vw W w
o9 § O FED NS @ qvaw B,
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Q109 Ramesh sold a box at 10% profit to Suresh.

QL0

oIl

Q112

Suresh sold it to Ganesh at 20% profit. If
Suresh’s profit is T 44, then the cost price of
the box for Ramesh is:

(A) T 200

(B) ¥ 150

(C) T 100

(D) T 250

Mahesh had x number of trees in the year
2011. Every year, due 1o new plantation, the
number increased by 10%. In which year
will the number of trees become at least 50%
more than that in 2011, for the first time?
(A) 2017

(B) 2016

(C) 2015

(D) 2014

A money amounts to ¥ 4,200 in 3 years and
to T 6,000 in 6 years at simple interest. The
rate of interest is:

(A) 20%

(B) |1%%
(C) 30%
(D) 25%

For the first 567 natural numbers, the
arithmetic mean will be:

(A) 283.5

(B) 284

(C) 2845

(D) 283

A S

F

36

Q109 WY A [& @l 10% T 9N G

91| W A FH 20% A U 0 H
#a fRar) af g3u A 244 71 am el
frar o v @ foe 39 % & T
fen 27
(A) T 200
(B) T 150
(C) T 100
(D) T 250

Q110 7§ 2011 ¥ WY @ UM x T A TS

qd, U ENNYT B IR, §H W
10% @t gfE & oneft &1 @ ugel aw
fors ad 9 2011 9 g # 9E B wen
FH A B 50% I & we?

(A) 2017

(B) 2016

(C) 2015

(D) 2014

Q11 U -1l \ERe & §¢ oW 3 a9

2420030 6 9 % 2 6,000 & o ®
e B 2 e 87
(A) 20%

1
® 125%

(C) 30%
(D) 25%

Q112 vgch 567 WPRrs HeaRil &1 R

wred fen s
(A) 283.5

(B) 284
(C) 2845

(D) 283
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Q113 A cone has its base radius as 7 cm and slant

height as 25 cm. The volume of the cone
will be:

(A) 1232 em’

(B) 3696 cm’

(C) 1864cm’

(D) 2464 cm’

Q114 Out the following numbers, which one is
NOT a perfect square?
(A) 3136
(B) 12544
(C) 1296
(D) 23832

Q115 The decimal expression for 8 rupees 8 paise
E
(A) 88.0
(B) 8.008
(C) 8.08
(D) 88

Q116 In the product of the first 35 even natural
numbers, the digit at the ten’s place is:
A) 2

®) 6
©) 5
(D) 0

Q117 Outofthe following, which is the greatest?

(A) {49};
®) 7

©) 401+

o ()

LM-D

[T FAE 2]
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QI U Wi & Imw A B 7 om 3w
fwdh S (wic sme) 25em ? | v
&1 Faaa e gm?

(A) 1232 cm’

(B) 3696cm?

(C) 1864 cm?

(D) 2464 cm’

Q114 Fr=fafee deami § @ 9 @ dam
v gof ot = &7
(A) 3136
(B) 12544
(C) 1296
(D) 23832

Q115 8ol 8 849 7 Toiv & fov gymaw
sfrerfade &= 0f?
(A) 88.0
(B) 8.008
(C) 8.08

(D) 8.8

Q116 wEh 35 w9 WPl weasl & Evd
W, <8 @ WF W A | 3F w5
(Aa) 2
B) 6
(€) 5
@ 0

Q117 Fr=fafee F @ o9 @ d@n @ @
#?

(A) {491;
®) 7

©) (240 I}"*'

o 3]
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QI8

QL9

Q120

Q122

If2* x 5 ends in §, then the value of x is:
(A) 1

(B) 0

(C) 2

(D) Novalue of x

The LCM of two co-primes (aand b ) is;
(A) a-b

(B) a+b

(C) alb

(D) ab

The difference between a number and the
two-fourth of that number is 60. What is the
number?
(A) 120
(B) 125
(©) 130
(D) 160

IfA:B=3:7andB:C=7:9,thenA:C
is equal to:
(A) 3:7
(B) 2:3
(C) 3:1
D) 1:3

X takes 8 hours to complete a task. Y takes
12 hours to complete the same task. How
long would it take both X and Y, working
together but independently, to complete the
same task?
(A) 4 days

4
(B) 47 days

5
(C) 43 days
(D) 5days

LM-D

o

L T Y

8

QIS TR 2 5* BT A SEM & a1 x a0

a+ e grm?

(A) 1

B) 0

© 2

(D) x &1 ®1E " T8 8m

Q119 R wWe—amoa W@l (o 3NV b) @

O WHMade @ gn?
(A) @ -b

®B) a+b

() alb

(D) ab

Q120 &t wam alv wwa v & =

o1 I 60 & | Hem aur &7
(A) 120
(B) 125
(C) 130
(D) 160

QI21 AR A:B=3:7aRB:C=7:98. @

A:C___ _awwme
(A) 3:7
(B) 2:3
(C) 3:1
(D) 1:3

Q122 fort &M &t qx1 v B fory X @y g w2

o ¥ | S wm @) Q@ e B g v
BT 1262 A & | I B @ g e
& fog X alv Y & ww frer &y, afdm
woA Wy A, e ww e

(A) 4f&=

4

(B) 4; fa=
5

(C) 4; fes

®) s&A
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Q123 Find the area of a square whose diagonal is Q123 s Tt s sy & sad 10m

10m long. P! HAEE T FY
(A) 10 (A) 10m?
(B) 50m? B) 50m?
(C) 100m? (C) 100m?
(D) 110m? D) 110m?

Q124 Solve the following. Q124 Fy=fafin & sa &%)
{I"Sjn:ﬁ]im:ﬂ’:‘ “ —Sin:ﬂjmlﬂ=
(A) O (A) 0
®) 1 B) 1
(€) sing (C) sing
(D) cosg (D) cos@

Q125 Find the range of the following data. QI25 Fferitaa 3reT 3 ¥ v 3|

32, 45, 16, 28, 69, 34, 29,54, 48 32,45, 16, 28, 69, 34, 29,54, 48

o (A) 16
& - B) 44
© 9 () 53
D) 54 () 4

ALOE LY

it
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SECTION-4| GENERAL HINDI | 25 QUESTIONS

Prafafaa smer® &1 aggs Hifoe
3R g Ry 7y vl (v S 126 -

128) & SR & |

I w4 A Wl e wreE i -l
R, gafoor a1 g w9 F of w9,
W&a @ o W W, o w1, Rwe @
fftm wy 4, ik @ s 4 Fww w
R w0 | we $R I gy g
1 W w4l 4 g 8, i owe
SR T FIOT JGA] T GEET 8,
afess fovmead g widflea e @)
Ol ad WEe N WHIE & WS-,
FERESIGY AR R, PR
frgw ik Mo gawd wiv @t @
vl fFar o 8 A R ar smfay
¥ 0 R o dud yomTaiE
figrifea waam mgawa, wa Ruw
iR A fvd s & i o
@ 3 g WMo Rer @ @ Afad
wavor 3 frereren, s siv & |
# ) 52 @ Rre e o € 3 o
¢t w= wige W weEg 8 T @
WEIRY, ANV §e UBN B wul 3
v o v E areife, sifeem,

i L (el

Q126

Q127

Wi genfR wwg @ wrd afaal
fied 21 RMod 99 & ol 3 g
o § o afEar oo aREl w1
AT Feord Baa I B gl
W v & 1w v dve-ago witere
foror v &, 2w vl 9 o wufdyfa
a1 daw @

SuRieRT i @ g sfe e Ty
(A) "Wl =1 w9

®) TR i wpfy

(C) weanr af

(D) wpfa = wied

I T P IER W gy &

WP B W, AAERT Y YR B

wUl P v A vl o el da

e &7

(A) wa" v ¥

(B) T Yo i

(C) fod @3 3 sRal #

(D) T=fE, wifeera, wafy genfX
v & wrd Rt
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QI28 TURIET TEI HT WU BT | Q129 “TE & el e & w3 g+

(A) = SR &1 gey wola & Wi , ) R Y
wal A o= wlon 8, wid ows !

|

‘ (B) faamEd) ama
FRIT BT SN YT S GEH

I 7d1, afew Rramead gm wfafiss (©) gt TNy

' are B (D) T T

(B) Wit #ad HEannaew fAgHEtsa
TN WgevITE, e e

frfRftrare & fired PO Q130 @l TH & BIA 7 A Uiy T

7y & 9 g HevimRe 3 A% e @ Y s 3 e
dr fafderaet wger @ R, ferar | s aE o= R @t § amem?
saan afR ffese 4 & a9 g3 A Fior v
@ fo o vt & 3 TnwdE €
w® W a1 g (B) ¥mdeE+ UH

(C) ol & <1 vu & & gIv, @ (C) @Eafd® 93
49 | v R @1 gey AN F (D) amaRe v=

i &) g o wafa @ aed
died @1 9us @ sud

e o1 9gued o @ Q5! P SRy A AREN T FwRR

T4, 78 Hia 78 & | WPl B we fare v v amg?
Wl @1 R wega @ W s A) A TR av
# faed &) waw ol d SEE ;ﬂ_&qﬁm
witere aviE gan &) ®)

(D) Mo 4 & sl 3 gwe o (C) T @t s
HAT-HAT Iooid DHaer LY B

gfie & f5ar & weg vesm #
urgl-aga wivere fa=v fa g,
a5 ypla @ fdw sefnf =
Ceolaf
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Q132

Q133

Q134

QI35

LM-D

f¥d) =t a1 wftawvr o oft & W @
R W 5 wren & W Feefofa |
A P W AR gas afefa @ s
(A) 3T R
(B) w1 W

(C) Twa @R

(D) faga @@

frifetta § § oiftds wfy a9 @ &2
(A) @

B) @

€ %

o)

e T # P o Sy &
(A) W

(B) =iy

C) =

D) =

o v A I W g &7
(A) &
®) &
(C) %

D) &

Q136

Q137

Q138

=

@ T gy gy R - Ay
# Ywifda we 5w iy & IS
27

(A) TPTETES

(B) wHwamara®

(C) WS

(D) uRHAroTEES

oA Fl g@ i e s 9w e
o i A wge g & aa ued s
g1 HEARN 87

(A) W fsa

(B) S far

(©) Worfes s

D) e s

Frforfag 4 & o= w1 oefea &
qataardt T8Y #7

(A) T8
(B) @renfam

(C) T
(D) wfdam
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Q139 Ffefs % 3 Y wr vt Ram—gm

| Q140

Py s

Q141

LM-D

el 87

(A) HETaR—gRIEN
(B) Wy

(C) worie—favnd
(D) wwfte—afie

Ul aah g gufw m o
@ & |—Ree wre 7% F=fofaa 4 @
Ga i i A

(A) @iy

(B) woft

(C) ol

(D) wsfy

T B GRT T HEAT AT B~ a B
foe v v Preiffem 9 & = g
(A) THEHT

(B) a@wTa

(C) s

(D) Tew

1HA4

Q142

Q143

Ql44

Q145

Frafaftea 9 o W we =ife 87
(A) e

(B) ¥d

(C) =

(D) @aen

Tl 7 A o O Y o -
YR &1 a 87

(A) SrsaTE®

(B) wWaHaargs

(C) wWRearms

(D) §oEES

Preferfe # § @ w1 ara s &7
(A) W wow IED forg e
(B) U U Arer 3w dwet F amd § )
(C) & =l A Paw ad aiew B
(D) # 3w wed S aman §

qu ¥ e @ forg sfem gemw g

(A) Y& Fre
(B) o&a T

(C) 9@ & o= B
(D) =far o d S
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Q146

Q147

Q148

LM-D

e = 8 - & forg sfta
Gea ea el

(A) O @ da B aR a6

(B) 3o®1 @) unie 78] FWT ®I 91
(C) su &1 gu 9T &1 9

(D) 4 3« o4, ¥ ym-9m

frafafa #§ @ @9 W = T
& TE 87

(A) ¥R @ arf

(B) W& FCHLAR

(C) wwfoan

(D) =Te1 HNE

&S wftw & yfer @ Sws 99
&

(A) TFER Y

B) €i. e Tl

(C) swmiwwRg fBad

(D) vmfaers v

BC4LA A

44

Q149

Q150

‘e’ Al fve aroder @ R B
27

(A) ®rTER

(B) & wrTEd

(C) v

(D) #TaS

g v ) witey @ e o
¥ feran &

(A) anfewra

(B) Wi

(C) I

(D) smfT B
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ognaaTE

ROUGH WORK /7% =1 & fay
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ROUGH WORK /™ o1 & f3re

(R TFT R

e T L e
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ROUGH WORK /v% & & fa

BErFELLD

LM-D 47 SERIES-D-A




Read the following Instructions carefully :

Frafafaa Adal & = ) 9

L Out of the four allernatives for each question, only
one circle for the correct answer is lo be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

1. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet,

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), enother set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seat.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet (o the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not 1o
have handed over the Answer Sheet and dealt with as
an unfair means case.

8 Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations ol the Commission with regard to their
conduct in the Examination Hall, All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission,

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidate's copy to candidate, then only
candidate is allowed to leave the examination hall,
Candidate is only allowed to take Candidate's copy of
answer sheet,

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the exam,

I Wl e @ foe By ) an et 4 9
Wh IR @ foU 3 U9 o, oW me W
dael T e @1 € g9 T8 He AT dige
U ¥ W | UE §R IR sifka s 9 @
g IH I 8 o HEo &)

. wherdt giiftea & @ oo e @ A
q WY T4 99 W B1E I fAeE T S
T} T i ST TEe A PR
Wi & afafaa == 7 foed )

3. e gReeT g 9T UAF @ FgdE

garr &, Wi A f Rl § @aw
Tie gita@n A &0 @t vie T gEd e
U Ud SR UEe SYqE A8 e
W |

4. whem Rt 4 & v wden gftem e
& rEmed] wl afie @ Sufefy o= 3
forel |

5. 98 WM W e gdanfl, T smades o
HYAT WA vES fRan

6. D a7 Ty e @) fadw spfa @
fam ®iE ol sro e @ 9

BLPZ 00

7. BT B TS B HIAT I USS 23U
fter ol aom wE A6 e afe
et odiemedt & auftafy gae W swER
A8l fe @ a8 urn ST @) WS e
TEE € dller # v 7w aEfe e @
ATAT HAT ST |

8. U /gaagie / exaafon WRees o
g afoia #)

9. T BT § arewor & foe odemf amdir &
il et od fafvt g Frafi ) amfa
ot & Wi el @1 deer i @
Pl vd fafrasdt & argem g

10. 99597 & U apadl O UEe o aiES
@ wiel 7| Fodee gRT anad] @) ST
v & sl ufdy /o wfy swrra e
wireft e frae guvia § e @ vie
sl 41 W | TR 9Ee 9 snadf oy
el @ I WY A R A SR g

1. 93 & Iuia gdereff S ofa
&8 FOES &1 atern gt gder
qRasr & gdarefl avd @ W o
Off WHa o |
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